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TS i Luibffits | EELHE | Re/mso | B LEH Lk

FLiRTH EREHF9E 49,300 49,300 1.000 49,300
EREET FEHEIERTO01 % 41,000 41,000 1.000 41,000
INMET B2 T H201%ES 38,758 38,758 1.000 38,758
NG KILETT1 T B217%& 66,028 66,028 1.000 66,028
=T BIIET11151 28,200 28,200 1.000 28,200
ST - - - - -
wILT - - - - -
BT HEEPET = K 2041 27,900 27,900 1.000 27,900
CESH B/ R568% - 27,270 - 27270 MMEZEERVEHAICEZEEHDER,
ERIRM |k eR40753 45,700 45,700 1.000 45,700
HwEM I A 586 %1 18,300 18,300 1.000 18,300
i K BHHF R385 E 50,800 50,800 1.000 50,800
G - - - -
AT - - - - -
Z18H FEIH9133%1 77,000 77,000 1.000 77,000
=Rt HIEET1179% 45,760 45,760 1.000 45,760
TR Ei2456% 50,600 50,600 1.000 50,600
FREM £ 5 E1325%7 53,900 53,653 0.995 53,653
BT - - - - -
+ Rt L+ RIBT133781 43,108 43,108 1.000 43,108
ZEH RERTE R 439135 47,465 47,465 1.000 47,465
=% @ 1LI298 % Hh 1 56,200 56,200 1.000 56,200
REM - - - - -
FEm R #9976 34,700 34,700 1.000 34,700
)T STE8Z BT620% 1 46,300 46,300 1.000 46,800
G PEEE260% 1 57,200 57,200 1.000 57,200
i - - - -
ZEllm —BEF—E9193% 69,410 69,410 1.000 69,410
ERHBH |FTmElsosE2 61,793 62,068 1.004 62,068
Ehlm - - - - -
BEEH hE2TTE 44,200 44,200 1.000 44,200
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TS i Luibffits | EELHE | Re/mso | B LEH Lk
FEH RANRT720% 1 63,200 63,200 1.000 63,200
LIEET |[oR141Es 33,100 33,100 1.000 33,100
aiFH HEIRA54ET 41,030 41,030 1.000 41,030
b 5&)1[1152%5 43,100 43,100 1.000 43,100
sl 21 ET JNEFHT24%51 50,700 50,700 1.000 50,700
RN |9311E 40,425 40,425 1.000 40,425
FARITET = 116071 25,800 25,800 1.000 25,800
= EHT F=E207 26,500 26,500 1.000 26,500
K0P ET F FE52E 36,400 36,400 1.000 36,400
RERET |FhHessk 35,035 35,035 1.000 35,035
+ARET EEE7240% 1 45,700 45,700 1.000 45,700
R ERET - - - - -
#RET =3B 1118951 29,700 29,700 1.000 29,700
J\EHT AiR866 27,600 27,600 1.000 27,600
RAHEET |- - - - -
STEMT HETAT11118 46,100 46,021 0.998 46,021
L/ EET  |#a5E 40,700 40,700 1.000 40,700
[ERERET  |=%837F 41,300 41,300 1.000 41,300
Z ERET BESHT56% 1 38,390 38,390 1.000 38,390
B R BT = E320% i 29,700 29,700 1.000 29,700
A 544358173 42,900 42,900 1.000 42,900
H1-AET |tRLREEs0E 41,800 41,800 1.000 41,800
Bt FE252 22,110 22,110 1.000 22,110
FFERET ERIETT 5 RI332%2 24,200 24,200 1.000 24,200
ERNAT |FB&66%E2 20,470 20,470 1.000 20,470
FRRR AT FAA153%1 42,100 42,100 1.000 42,100
—tafT  [E=2aEi 30,410 30,410 1.000 30,410
BIeet Fi2)1136% 3 24,400 24,400 1.000 24,400
BEEHF |TE/R2E7 23,819 23,819 1.000 23,819
EERIE  |FRE286E 27,900 27,900 1.000 27,900
TABHET F&EE0E 31,570 31,570 1.000 31,570
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4 ettty g iz EHAE | e o
k2 IS #ogibflith | EELRE | R2/H30 e :

EENEZHT |7/ \1B92%4 36,570 36,570 1.000 36,570
FHFNET BT k134737 46,795 46,795 1.000 46,795
& RHET FEE259%1 36,196 36,190 1.000 36,190
i=ke) - - - - -
WMERA  |FEANI2085F 1 12,650 12,650 1.000 12,650
TEITHT - - - - -
il SRET518% 1 24,200 24,200 1.000 24,200
{Z KHET LET13TH19% 40,590 40,590 1.000 40,590
Bl 2 )IET602% 1 44,000 44,000 1.000 44,000
FRAENNAT  |FER166%1 27,692 27,692 1.000 27,692
TR HT 321383 47,630 47,630 1.000 47,630
ZHITH | FE=#1307%2 60,540 60,540 1.000 60,540
LE)IET |- - - - -
H{_HT #1235 45,925 45,925 1.000 45,925
E3BET 75482 45,430 45,430 1.000 45,430
EILET thE163%1 58,201 58,201 1.000 58,201
)R FHEIES 48,950 48,950 1.000 48,950
SEEIET FHHLKI6T 155 48,500 48,500 1.000 48,500
732 ) || BT | 7€ B 24051 49,390 49,390 1.000 49,390
LEIEART  |FKREI1325F1 64,306 64,306 1.000 64,306
FERBIRT | =R 12065250 60,400 60,400 1.000 60,400
BT Frh 268%100 52,500 52,500 1.000 52,500
Jt = HET FF192%23 48,950 48,950 1.000 48,950
;B HEET FER104%14 41,382 39,435 0.953 39,435
FE AT HT 597351 57,900 57,900 1.000 57,900
S E I EE G IR 50,050 50,050 1.000 50,050
L ERHT 6955%4 57,260 57,260 1.000 57,260
te AR ET 87155 53,790 53,790 1.000 53,790
= RIET 28 36635 1 49,000 49,000 1.000 49,000
EIET FHE1534%6 43,051 43,038 1.000 43,038
= I[ET 71851 46,475 46,475 1.000 46,475




E#EH

FEETETH : RIE™H
BT & ot g iz EHAE | e o
A : oG | BEARBE | R2/H30 et #

ETET FB606% 1 42,570 42,570 1.000 42,570
+ E REFHT|5207%F 1 52,800 52,800 1.000 52,800
b= BB FhE R 53375 57,310 57,310 1.000 57,310
e BT E T 21140751 24,750 24,750 1.000 24,750
=peR ol 2 LHTEH2E4 19,800 19,799 1.000 19,799
FOFERT =4%95%13 41415 41415 1.000 41,415
&) BT HAT3335% 42,500 42,500 1.000 42,500
TJIET taE61E 31,800 31,800 1.000 31,800
el FEEI31-1 29,992 29,992 1.000 29,992
BRI - - - - -
AT |- - - - -
IRANET  |FEHI10441%2 29,985 29,985 1.000 29,985
EERT B43219%20 32,300 32,300 1.000 32,300
INTERT FEEL4E 45,155 45,155 1.000 45,155
o5 AilET FAE273E 36,941 36,941 1.000 36,941
FIRET Frh$2461% 33,055 33,055 1.000 33,055
#MILBIFT  |FBEE 1051 H# 32,890 32,890 1.000 32,890
12 BII BT FRK949F1 27,900 27,900 1.000 27,900
KigHT - - - - -
RIS — - _ _ -
JEGERIET |- - - - -
FEERIET |- - - - -
% SEET - - - - -
FLCHT - - - - -
FI R ET - - - - -
FRELHET|- - - - -
5% S2E BT - - - - -
S IRET FEBISE? 24,806 24,806 1.000 24,806
ET FEET5E M 21,000 21,000 1.000 21,000
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. H30 R2 EHINE 5 RS
TS i Luibffits | EELHE | Re/mso | B LEH Lk

EEHT - - - - -
INEIKET |- - - - -
SN FRTET |3 EH249%1 22,702 22,702 1.000 22,702
& P T Fit 8655 11,300 11,300 1.000 11,300
{EZ R |- - Z — _
RERET - 13,637 - - —|#h B ZEE (A—-RE) ICKYANGEE =& kb BEHDREI,
B RIET - - - - -
& FHT - - - - -
i) - - - - -
FEEF |- - - - -
T EHT - - - - -
K ZelT R AP 10451 25,190 25,190 1.000 25,190
SUEET  |FERISIE 29,975 29,975 1.000 29,975
T EEET 3% 2 BT423% 11 40,150 40,150 1.000 40,150
=B - - - - -
[EET) FEAITIE 39,900 39,900 1.000 39,900
RIEREIET  |Btm48F1 48,300 48,300 1.000 48,300
TEH BRI H049E 25,300 25,300 1.000 25,300
OhHET  |Em537%2 36,300 36,300 1.000 36,300
B = e FEM164% 42,710 42,710 1.000 42,710
T Ex BT TR 20053 43,400 43,395 1.000 43,395
AT FAE11351 37,700 37,700 1.000 37,700
;A Al BT = F#FFI150%1 39,600 39,600 1.000 39,600
FRASUET FHK306%1 29,900 29,900 1.000 29,900
ZYLET |- - - - -
EFOEHET | BEAHIME 43,600 43,600 1.000 43,600
=] +E)IE R8T H2E4 31,000 31,000 1.000 31,000
TR ET - - - - -
L EiRET (- - - - -
3L - - - - -

F1SHT
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